Adding and Subtracting Decimals Crossword

Name

Complete the Crossword by using the clues (problems) below. You MUST include the decimal

point in the puzzle. (3 Down is done for you.)

Show Your Work on the Back of This Paper (No Calculator)

Across:

2: 2.565+9.5+0.245
4: You go on a 7.4 mile run.

You run 5.6 miles. How far
do you have left?

5: 9.9+1.6
6: 1.78-1.737
7: 3.8-33
8: 4-3.44
9: 0.67+8.9

13: To make lemonade,
Jimmy bought lemons for

$2.99, some sugar for $3.83

and paper cups for $2. How
much money did he spend?

14: 34.4+8.36

15: The original price of a
shirt is $20.54. If the shirt is
on sale for a $7.78 discount,
how much is the sale price of
the shirt?

17: 8.0+0.7+1

Dowm
1: 1.3+5.8+1.6

2: 35+8.745

3: 0.72+0.604

4: Bill weighs 120.43 pounds. Last week he gained
5.32 pounds. How much does Bill weigh now?

5: 0.4+0.9

BN W

u

12

14

15

16

17

Down
7: 0.34+0.129+0.1

8: 1.232-0.24
10: 0.32+5.1

11: 13.9-9.389

12: The temperature outside this morning was 15.75
degrees. The temperature dropped 8 degrees by the
afternoon. What was the new temperature?

16: 12.91-6.24
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